
BASKET - From the top of the pole 
slide the basket down and line up 
the 2 holes for the hex bolt, with the 
threaded hole on the opposite side 
of the pole from the third hole in the 
pole. Insert 5/16" x 2 3/4" hex bolt 
through basket and pole and tighten 
nut with wrench. Insert the 1/4" x 
3/8" hex bolt into the threaded hole on the basket and tighten against 
the pole.

TARGET TOP - Hold up target top to 
make sure chains hang freely and 
are not tangled. While holding up 
target top, slide the two rings at 
bottom of chains onto top of pole. 
Be careful not to let any chains cross 
between the top of the pole and the 
hole in the center of the target top, 
as you put the target top onto the pole. Align target top with the 
threaded hole on the opposite side of the pole from the third hole in the 
pole. Insert 5/16" x 2 3/4" hex bolt through target top and pole and 
tighten nut with wrench. Insert the 1/4" x 3/8" hex bolt into the threaded 
hole on the target top and tighten against the pole.

BASE - Sit the target base on the 
ground. Slide BOTTOM of target 
pole (end with no holes) into base. 
Insert two 1/4" x 3/8" hex head 
bolts into threaded holes on base 
and tighten against the pole.

Step 1

Step 2

Step 3

Diagram 1.2  Basket

1/4 x 3/8 Bolt

Diagram 1.2  Target Top

1/4 x 3/8 Bolt3rd hole
on pole

Parts (included per target)
• One Portable Pole (54”)
• One Target Top (w/chains)
• One Basket
• One Portable Base

Assembly Tools and Extras 
• A pair of adjustable wrenches 

 

Diagram 1.1  Base

East  Coast  Sales
(800) 476-3968 

2850 Commerce Drive | Rock Hill, SC 29730

West  Coast  Sales
(800) 408-8449 

900 S. Dupont Ave. | Ontario, CA 91761

www.innovadiscs.com

Still have questions? Give us a call.

target
top

basket 

mounting
top

holes

mounting
basket

holes

portable pole

bottom of pole
(no holes)

large hex
 head bolt

small hex
head bolt

small hex
head bolts

Diagram 1

large hex 
head bolt

portable base

small hex
head bolt

Hardware (included per target)
• Two 5⁄16” x 2¾” hex head bolts
 Four ¼” x 3⁄8” hex head bolt•
• Two 5/16” nuts 

PORTABLE TARGET ASSEMBLY INSTRUCTIONS  

Page 1

3rd hole
on pole


